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X, ,x.)=2x, T x, 7 max
f]_( 1 2) 1 2

x,,x,) = x, T 5x., = max
fZ( 1 2) 1 2

So(x,,x,) = x;, 7 3x, 77 max

za omezeni

x, Tx,=3
03x132,03x232
x1 X2 f1 2 f3 ‘skalarizace i
L P
vl V2 v3 suma
0.5 0.2 0.3




Minimaxové programovani

Si(x,,x,) = 2x, ¥ x, 7 max
So(x,,x,) = x, T 5x, 7 max
So(x,,x,) = x;, — 3x, 77 max
za omezeni

+ <
x, T x, 3

0=x =2,0=x,=2

x1 X2 w f1 f2 f3
0 0

w ™ max

za omezeni

\%

_|_
2x1 X,

\%

_|_
X, 5x2

\%

x, ~ 3x2
+, <
x, T X, 3

0<x <2,0






Cilové programovani

fl(xlixz):2x1+x2_) max q1=3
JSo(x,,x,) = x;, ¥ 5x, 7> max q2 = 4
Sa(x,,x,) = x;, — 3x, > max
. g3=>5
za omezeni
x, ¥ x,=3
OSx1£2,03x232
x1 X2 dl hl d2 h2 d3 h3 fl
L
-di f-q

+ +
d,Td,"d,
za omezeni

+, <
x, Tx,=3
0= X, =2.0
—4 < +

a’1 2x1
- +

d2 X, 5

_d35x1_3

IA



d,*d,Td, Y h tTh,*h, 7 min
za omezeni

x, Tx,s3
0=x,52,05x,52

—d, S2x,tx,735h
~d,Sx, T5x, 4= h,

—d, x1_3x2_53h3

d =0,h=0,i=123

IA

f2 f3 suma odch
0 0

P

hi




